Grammar: Indefinite Pronouns and Adverbs.

For every question, there is negative answer, one indefinite and one absolute.

Question

Negative answer

Indefinite answer

Absolute answer

kdo? = who

nikdo = nobody

nékdo = someone

vSichni = everyone

kde? = where (location)

nikde = nowhere

nékde = somewhere

vSude = everywhere

kam? = where (destination)

nikam = nowhere

nékam = somewhere

kdy? = when

nikdy= never

nékdy = sometimes

vzdycky = always
porad = all the time

jak? = how

néjak = somehow

co? = what

nic = nothing

néco = something

vSechno = everything

/ all

jaky? = how/what (adjectives)

ktery? = which (adjectives)

zadny= none

néjaky = any/some/a

kazdy = every

Jaké pivo mas rad? — Mam rad svétlé pivo, ¢erné pivo...

Které pivo chces — Starobrno, nebo Plzen?

Complete/multiple negative
In czech language, both verb and pronoun/adverb must be negative to make negative sentence.

Examples

Q: Chces néco? (Do you want something?)
A: Nechci nic. (I don’t want anything.

Q: Kdo studoval na test? (Who studied for the test?)

A: Nikdo nestudoval. (Nobody studied.)
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kdo to 1 udéla.

>

o ~ N
=~ (o8 >
o 9] [N
C L — m(
- @ &
C ] o
3 o <
(<% ,-,:_, >
o jES
] 3
2 =r
c (@]
g -~

Kdo to udéla?

Ne, ' koho tu 1 zndm.

Petr tady 1 kde ' ni.
Nadrazi tady ' kde 1 ni.

kam to - davej.

Kde je nadrazi?

Kam jdes?

Kam to mam dat?

Kdy pfijedes? pfijedu = kdy.
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Kdy to zacne? kdy to  zacne.

Jak to udélame? jak to - udéldme.

jak to  vidim.
chci pivo.

Jak to vidis?

Jaké chces pivo?

J

ma to barvu.
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